
10379 10379.5 10380 10380.5 10381
cyclenum

1.5

2

2.5

3

3.5

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

4−

3.5−

3−

2.5−

2−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

8114

8114.5

8115

8115.5

8116

8116.5

8117

8117.5

8118

ru
n

run:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

67−

66.5−

66−

65.5−

65−

us
l_

1X
usl_1X:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

us
l_

4a
Y

usl_4aY:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

1−

0.5−

0

0.5

1

us
l_

4e
X

usl_4eX:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

15.5

16

16.5

17

17.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

35.4−

35.2−

35−

34.8−

34.6−

34.4−

34.2−

34−

33.8−

33.6−

33.4−

33.2−

us
l_

12
X

usl_12X:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

8114

8114.5

8115

8115.5

8116

8116.5

8117

8117.5

8118

ru
n

run:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

111−

110.5−

110−

109.5−

109−

us
r_

1X

usr_1X:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

4.5

5

5.5

6

6.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

159.6

159.8

160

160.2

160.4

160.6

160.8

161

161.2

161.4

161.6

161.8

us
r_

4e
X

usr_4eX:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

9.5

10

10.5

11

11.5

us
r_

4e
Y

usr_4eY:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

38.5−

38−

37.5−

37−

36.5−u
sr

_1
2X

usr_12X:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

8114

8114.5

8115

8115.5

8116

8116.5

8117

8117.5

8118

ru
n

run:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

15868

15868.5

15869

15869.5

15870

us
l_

co
il1

usl_coil1:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

2103.2

2103.4

2103.6

2103.8

2104

2104.2

2104.4

2104.6

2104.8

2105

2105.2

2105.4

us
l_

co
il3

usl_coil3:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

4522.5

4523

4523.5

4524

4524.5

us
l_

co
il4

usl_coil4:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

2804.5−

2804−

2803.5−

2803−

2802.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

1243.2

1243.4

1243.6

1243.8

1244

1244.2

1244.4

1244.6

1244.8

1245

1245.2

1245.4

us
l_

co
il7

usl_coil7:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

8114

8114.5

8115

8115.5

8116

8116.5

8117

8117.5

8118

ru
n

run:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

14432−

14431.5−

14431−

14430.5−

14430−

us
r_

co
il1

usr_coil1:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

1689.5−

1689−

1688.5−

1688−

1687.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

4233.5

4234

4234.5

4235

4235.5

us
r_

co
il4

usr_coil4:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

2980.5−

2980−

2979.5−

2979−

2978.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

34383

34383.5

34384

34384.5

34385

us
r_

co
il7

usr_coil7:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

8114

8114.5

8115

8115.5

8116

8116.5

8117

8117.5

8118

ru
n

run:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

119.4−

119.2−

119−

118.8−

118.6−

118.4−

118.2−

118−

117.8−

117.6−

117.4−

117.2−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

1X
_c

oi
l3

1X_coil3:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

246

246.5

247

247.5

248

1X
_c

oi
l7

1X_coil7:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

226−

225.5−

225−

224.5−

224−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

22−

21.5−

21−

20.5−

20−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

262.5

263

263.5

264

264.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

288.2

288.4

288.6

288.8

289

289.2

289.4

289.6

289.8

290

290.2

290.4

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

123−

122.5−

122−

121.5−

121−

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

39−

38.5−

38−

37.5−

37−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

265.6

265.8

266

266.2

266.4

266.6

266.8

267

267.2

267.4

267.6

267.8

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

150−

149.5−

149−

148.5−

148−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

31.5−

31−

30.5−

30−

29.5−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 8116}



10379 10379.5 10380 10380.5 10381
cyclenum

235.5−

235−

234.5−

234−

233.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

89.8−

89.6−

89.4−

89.2−

89−

88.8−

88.6−

88.4−

88.2−

88−

87.8−

87.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

11.5

12

12.5

13

13.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

5.6

5.8

6

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

529.5−

529−

528.5−

528−

527.5−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 8116}

10379 10379.5 10380 10380.5 10381
cyclenum

8114

8114.5

8115

8115.5

8116

8116.5

8117

8117.5

8118

ru
n

run:cyclenum {run == 8116}
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